Core / - Exponentials and Logarithms

Challenge 1

Given that p=1log, 3 and g =1logy 5, find expressions in terms of p and ¢ for
(@) log, 45, 3

(b) log, 0.3 3)




(@

(b)

Challenge 2

Given that 7=log; x, find expressions in terms of # for

(i) logsx’,

(i) logo x. 4)
Hence, or otherwise, find to 3 significant figures the value of x such that

logs x* — loge x = 4. (3)




Challenge 3

(a) Evaluate

logz 27 — logs 4. 4)
(b)  Solve the equation
£-32""hH=0. (5)



Final Challenge

(@)  Given that

logo (y—1)=1+log x,

show that

y=2x+1. 3)

(b)  Solve the simultaneous equations

logo(y—1)=1+log x

2logzsy=2+logzx (7)



